® Chester, Ct. 06412-0684
WH E l- E N Tel: 860-526-9504

ENGINEERING COMPANY, INC. www.whelen.com

® Chester, Ct. 06412-0684
WH E l- E N Tel: 860-526-9504

ENGINEERING COMPANY, INC. www.whelen.com

SA/HR Installation Kit
(1) A421 & (1) A421-1 Pilot's Warning Placards.
(1) A438 Lens Masking Strip.
(1) A445 Switch Label.
(3) 6-32 x3/8 Pan Head Screws.
(3) #6 Internal Tooth Lock Washers.

To view information about our Products, Installation Guides,
Installation and Service Manual, Trouble Shooting Procedure
for Strobe Light Systems, Technical Support, System
Recommendations, PMA Supplements, STC's and illustrated
Spare Parts Catalog visit www.whelen.com or contact our
aviation sales dept. at (860) 526-9504.

©2010 Whelen Engineering Company. Form No.14394 (062910)

® Chester, Ct. 06412-0684
WH EL E N Tel: 860-526-9504

ENGINEERING COMPANY, INC. www.whelen.com

SA/HR Installation Kit
(1) A421 & (1) A421-1 Pilot's Warning Placards.
(1) A438 Lens Masking Strip.
(1) A445 Switch Label.
(3) 6-32 x3/8 Pan Head Screws.
(3) #6 Internal Tooth Lock Washers.

To view information about our Products, Installation Guides,
Installation and Service Manual, Trouble Shooting Procedure
for Strobe Light Systems, Technical Support, System
Recommendations, PMA Supplements, STC's and illustrated
Spare Parts Catalog visit www.whelen.com or contact our
aviation sales dept. at (860) 526-9504.

©2010 Whelen Engineering Company. Form No.14394 (062910)

® Chester, Ct. 06412-0684
WH EL E N Tel: 860-526-9504

ENGINEERING COMPANY, INC. www.whelen.com

SA/HR Installation Kit
(1) A421 & (1) A421-1 Pilot's Warning Placards.
(1) A438 Lens Masking Strip.
(1) A445 Switch Label.
(3) 6-32 x3/8 Pan Head Screws.
(3) #6 Internal Tooth Lock Washers.

To view information about our Products, Installation Guides,
Installation and Service Manual, Trouble Shooting Procedure
for Strobe Light Systems, Technical Support, System
Recommendations, PMA Supplements, STC's and illustrated
Spare Parts Catalog visit www.whelen.com or contact our
aviation sales dept. at (860) 526-9504.

©2010 Whelen Engineering Company. Form No.14394 (062910)

SA/HR Installation Kit
(1) A421 & (1) A421-1 Pilot's Warning Placards.
(1) A438 Lens Masking Strip.
(1) A445 Switch Label.
(3) 6-32 x3/8 Pan Head Screws.
(3) #6 Internal Tooth Lock Washers.

To view information about our Products, Installation Guides,
Installation and Service Manual, Trouble Shooting Procedure
for Strobe Light Systems, Technical Support, System
Recommendations, PMA Supplements, STC's and illustrated
Spare Parts Catalog visit www.whelen.com or contact our
aviation sales dept. at (860) 526-9504.

©2010 Whelen Engineering Company. Form No.14394 (062910)

® Chester, Ct. 06412-0684
WH E l- E N Tel: 860-526-9504

ENGINEERING COMPANY, INC. www.whelen.com

SA/HR Installation Kit
(1) A421 & (1) A421-1 Pilot's Warning Placards.
(1) A438 Lens Masking Strip.
(1) A445 Switch Label.
(3) 6-32 x3/8 Pan Head Screws.
(3) #6 Internal Tooth Lock Washers.

To view information about our Products, Installation Guides,
Installation and Service Manual, Trouble Shooting Procedure
for Strobe Light Systems, Technical Support, System
Recommendations, PMA Supplements, STC's and illustrated
Spare Parts Catalog visit www.whelen.com or contact our
aviation sales dept. at (860) 526-9504.

©2010 Whelen Engineering Company. Form No.14394 (062910)

® Chester, Ct. 06412-0684
WH E l- E N Tel: 860-526-9504

ENGINEERING COMPANY, INC. www.whelen.com

SA/HR Installation Kit
(1) A421 & (1) A421-1 Pilot's Warning Placards.
(1) A438 Lens Masking Strip.
(1) A445 Switch Label.
(3) 6-32 x3/8 Pan Head Screws.
(3) #6 Internal Tooth Lock Washers.

To view information about our Products, Installation Guides,
Installation and Service Manual, Trouble Shooting Procedure
for Strobe Light Systems, Technical Support, System
Recommendations, PMA Supplements, STC's and illustrated
Spare Parts Catalog visit www.whelen.com or contact our
aviation sales dept. at (860) 526-9504.

©2010 Whelen Engineering Company. Form No.14394 (062910)



